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— ~ Plot the waveforms specified below:(10%)
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= ~ Find the impulse response and step response of the RL circuit show in Fig.1, the series
connection of the linear time-invariant resistor and inductor is driven by a voltage

- source vy(t) and response is i(t).(20%)
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= ~ Find the open-circuit impedance matrix of the two-port show in Fig.2.(20%)

™ ~ Determine the zero-state response for the input is(t) and impulse reéponse h(t) given in
Fig.3.(20%)
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% ~ The network 7 shown in Fig 4 is made of n—2 linear time-invariant resistors. Voltage
and current measurements were taken for two values of R, and the input.
The measurements are tabulated in figure. Determine the value vy(t).(15%)
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_ Va0 =1V) V= 7(V)
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75 ~ Write the state equations for the network show in Fig.5.(15%)
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